WWW.UPSC terials.com
A-PDF Watermark DEMO: Purchase from www.A-PDF.com to remove the watermark

CGPSC Librarian Exam 7th Dec Shift 1

Notations :

1.Options shown in green color and with % icon are correct.

7.Options shown in red color and with # icon are incorrect.

Question Paper Name: CGPSC Lib GS actual
Subject Name: COPSCLib 38
Duration: 150
Number of Questions: 150
Revisit allowed for view? : No
Revisit allowed for edit? : No
General Studies
Number of Questions: 50

Question Number : 1
Correct: 2 Wrong : 1

India's tenth 'five year plan' was introduced for the years:
Options :
1. % 1090-1095

2. % 1002.1007
. % 1008-2003
4. % 2002-2007
# 2000-2014

Ll

Wh

Question Number : 1
Correct : 2 Wrong : 1

WA &1 e Uea < FiT T <t o Tog w0 &1 18 oft
Options :
1. % 100p0-1005

7. % 1002.1007
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4 % 2002-2007
% 2000-2014

Lh

Question Number : 2
Correct : 2 Wrong : 1 www.upscstudymaterials.com
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Which of the following states i ularly | "8 " bowl of India"?

ch o Te T0ZOWIE S1es 15 pop ¥ Wi a\?vwv&ﬁ%lscsuﬁdgmat%gﬁafs.com
Options :
1. * Andhra Pradesh

2 ® Madlyya Pradesh

. % Uttar Pradesh
ks

(]

=

Arunachal Pradesh

. # Maharashtra

L

Question Number : 2
Correct: 2 Wrong : 1

TAH | DI AT = "I & T e @ @ ATH H UTeg 67

Options :

1. % areruda
2% mmudy

3. ¥ FT T

4, ® ST Haa
¥ mErg

[}

Question Number : 3
Correct : 2 Wrong : 1

Which of the following is NOT an output device?
Options :
1. ® monitor

~

2 % printer

¥ scanner

(RN ]

I

% plotter

® spealeers

A

Question Number : 3
Correct: 2 Wrong : 1

< & 9 g ot (amee) T T 87

Options :

1. ® Fifex
2% ey
3. ¥
4 % ey
% e

[ ]

Question Number : 4

Correct: 2 Wrong : 1

Which amongst the following is the longest river in India?
Options :

1. ® Yamuna river

-

2. v Ganga river

(]

L ® Bralunaputra river

% Kosi river

I

% Comtiniver www.upscstudymaterials.com
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Question Number : 4 www.upscstudymaterials.com
uestion Numbper <

Correct: 2 Wrong : 1

TAIH | I A T Herdl wlell Aol 67
Options :

1. % ey AaT

2 ¥ i aET

® TEgF A

% T AT

[ O Y

[

Question Number : 5

Correct : 2 Wrong : 1

Which batsman holds the record for scoring highest runs in a single one day international?
Options :

1. ® Sachin Tendullar
7% Virender selvwag
# Adam Gilchrist
4 %

Led

Chris Gayle

+ Rohit Sharma

LA

Question Number : 5
Correct: 2 Wrong : 1

Terelt Uer Uaiaare =T STaeie i Ael H Heel T8 T a1 @1 i1d AT [0he dectara o 217 57

Options :

1. ® gied dgamt
2. % g ggam
3. % u=n Tk
4. % T e

¥ {ifgT et

[

Question Number : 6
Correct : 2 Wrong : 1

The Indian MNational Congress was founded in which year?
Options :

1. ¥ 1385

2% 1300

® 1006

4 % 1003

L

#® 1031

Lh

Question Number : 6
Correct: 2 Wrong : 1

HICH (2T TG e it T feed e g% ofi?
Options :

1. ¥ 1385

2. % 1300

- www.upscstudymaterials.com
3. % 1006 P y
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Question Number : 7

Correct: 2 Wrong: 1

Which of the following states has the lowest percentage of forest cover of the total area?
Options :

] ® Iadlrya Pradesh

2. Punyab

3. # Assam

4. ® Himachal Pradesh
. ¥ Karnatalea

[

Question Number : 7
Correct : 2 Wrong : 1

0 | T T O el &hel T Helel Pl Wid 9 o As 13 a7
Options :
1. ¥ mgegudy

1 v O
® am
¥ AR e
. ® gqtre

J= L

L

Question Number : 8

Correct: 2 Wrong : 1

Who is the author of the bool 'One MNight @@ the Call Centre'?
Options :

1. ¥ Vileram Seth

2 % Anurag Mathur

% Fudyard Eipling
. ¥ Chetan Bliagat
. ® Robert Frost

d= 0 La

[}

Question Number : 8
Correct : 2 Wrong : 1

"I ATEE UZ FIel St @ oG i 57
Options :

1. ® Trwrde

2. % ST AR

® FEare T

Rdrcitun

. ® T wiee

L

LA

Question Number : 9

Correct: 2 Wrong : 1

Martyr Bhagat Singh was executed on:
Options :

| % 3 pril, 1010 www.upscstudymaterials.com
. F 't . Fla
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® B B

4 May, 1928

3 April, 1931

www.upscstudymaterials.com

L

3 June, 1930

23 March, 1031

Lh

Question Number : 9
Correct: 2 Wrong : 1

ETE T g O e T T o

Options :

1. % 13 3, 1010
2% 497 1028

® 3 arfer, 1031
4. % 354, 1030
¥ 13 9w, 1031

L

Lh

Question Number : 10
Correct : 2 Wrong : 1

India hosted the Commonwealth Games in the vear
Options :

1. % 2007

2% 2000

2010

2011

2012

L
# 8 ¢

A

Question Number : 10

Correct: 2 Wrong : 1
URT = TEHSH oAl i HAaT-T ere ad # &7 ot -

Options :

1. % 2007
2. % 2000
2010
2011
2012

L
% 8 4

Lh

Question Number : 11
Correct: 2 Wrong : 1

In which year The Civil Disobedience movement began?
Options :

1. % 1023

2% 1027

¥ 1030

% 1033

[N ]

I

# 1035

Wh

Question Number : 11
Correct: 2 Wrong : 1

HIEH SIE=T HIG o T & & Faim
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Options :
1. % 1073
1 % 1077

www.upscstudymaterials.com

3. % 103D
4 % 1033
% 1035

LM

Question Number : 12
Correct: 2 Wrong: 1

The first nuclear power plant i India was the:
Options :

1 ¢ Tarapur Atomic Powerstation, Maharashira
2% Fajasthan Atomic Power Station, Fajasthan
# Kaiga Generating Station, Karmatalsa

4. % Nadras Atomic Power Station, Tamil Nadu

L

% MNarora Atomic Power Station, Uttar Pradesh

LA

Question Number : 12
Correct : 2 Wrong : 1

WX T Uge] AT 1 Tered &= 27 ;
Options :
1. ¥ TR men fEe 69, AR

. ] =
4. AT WCHTI] TelE]d T, 1T

3. % T IeUTET 99, Tlew

4 % o WA EEE 6O, TS
- T T TR wE, S uE

L

Question Number : 13
Correct: 2 Wrong : 1

Which nation won the Men's Hocleey World Cup 20107
Options :

1. # Netherlands

2. ¥ Australia

~#® India

(W]

I

L ® G ertnaty
. ® Newzealand

[}

Question Number : 13
Correct : 2 Wrong : 1

o gep! Tererer 2010 T feraaT T8 @i 27
Options :

1. ® JavoEg

2% afferTerET

% T

4. % iy

R i

(RN ]

LA
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Question Number : 14 _
Correct : 2 Wrong : 1 www.upscstudymaterials.com
Who is regarded as the 'father of Indian cinema'?

Options :

1. % Dadasaheb Phalke

2. * Harishchandra

L

Satyajit Ray

ks
4. % v Shantaram
ks

Pran

Lh

Question Number : 14
Correct: 2 Wrong : 1

Options :

1. ¥ e W
2 ¥ gloeg

B e

R aEwm

(]

I

% g

[

Question Number : 15

Correct : 2 Wrong : 1

In computing, SAN stands for?
Options :

1. ® Storage Administration Nugalbey
2 otorage Area Metworl

atandard Adnunistrative Networl

L

® % 8 §

Server Access Mumber

Scalable Access MNetworle

Lh

Question Number : 15
Correct: 2 Wrong: 1

T (e H, SAN w7 anf 21T 27
Options :

1. ¥ @i v 91

1. ¥ i Ui dea

. ® e usiime e arad

el UedE T

o S o
. celelol Lo Aocld

(]

I

[

Question Number : 16
Correct : 2 Wrong : 1

The Egth state of India, Telangana, was formed on
Options :

1. % Nov 7, 2013

2. % Nay 11, 2014

2 -,f | ,. .
- June 2, 2014 www.upscstudymaterials.com
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5. % Sep 1, 2014

Question Number : 16

Correct: 2 Wrong: 1

WA & 20ef Ve, SoT=1 67 Mo Toper Ta e ot garm
Options :

1. % 7 e, 2013

2% 111, 2014

Y a9, 2014

4. % 5 anTed, 2014
% | e, 2014

(W]

[

Question Number : 17
Correct : 2 Wrong : 1

'Hiralound dam' i3 budlt in the state of;
Options :
1. #* Maharashtra

2 ® Madlyya Pradesh

# Uttar Pradesh
4 %

L

West Bengal
5. ¥ Odisha

Question Number : 17
Correct: 2 Wrong : 1

EIgE A e Tsa R E
Options :

1. ® WERTE

2% mmudy

® T

L

4. % gz aer
 anifzar

Lh

Question Number : 18
Correct : 2 Wrong : 1

Who is the current railway minister of India?
Options :

1. * Sadananda Gowida

2. % Mulaul Roy

. % A Ghosh

% Suresh Prabhalar Prablu

- % RN Malhotra

[ O N

LA

Question Number : 18
Correct: 2 Wrong : 1

T 3 T o e 2
Options :

. T =T www.upscstudymaterials.com
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Question Number : 19

Correct: 2 Wrong : 1

Who amongst the following 15 the current external affairs minister of India?
Options :

1. ¥ Uma Bharti

2. ® Suresh Prablm

® Arun Jait ely

L

4. ¥ Sushma WA
. ® Rajnath Singh

[}

Question Number : 19
Correct : 2 Wrong : 1

THH | I HRA ek o AT Tl w87

Options :

1. ® JuT AT

2% grarmy

3. ® s ST
4.V goaT T
. ® o Ty

LA

Question Number : 20

Correct: 2 Wrong : 1

Which city of India is also lmown as the Manchester of India™?
Options :

1. #® Chennai

2. % Kolicata

3. ¥ Ahmedabad

4. % Numbai

% Kanpur

[}

Question Number : 20
Correct: 2 Wrong : 1

IR o Ty 5T &1 "W & Aeieet AT HeT 91a1 827
Options :

1 ® g

2. ® FrE@ET

R omE

% e

[ S

Wh

Question Number : 21

Correct : 2 Wrong : 1 www.upscstudymaterials.com
The approzimate length of the Indian coastline including maintand, Lalshadweep islands and the Andaman & Nicobar islands is:



Options :
1. * 4813 km
7. % 6480 lan

3. % 7517 lam

www.upscstudymaterials.com

4 % 2730 km
#0000 lam

Lh

Question Number : 21

Correct: 2 Wrong: 1
T HIH, TS el SISA A le 10 T DT ATH Ded g, WG 1 TeCaT & /I THIT #ells ¢

Options :
1. % 4813 km
7. % 6480 lan

> Wi -
3. ¢ 7517 km

4. % 2230 km

# 0000 lam

LA

Question Number : 22

Correct : 2 Wrong : 1

The Bhopal Gas Tragedy took place i the year
Options :

1 % 108

2 % 1083
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4
—
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a
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#
—
W
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Question Number : 22

Correct: 2 Wrong : 1

1T e Aee o af aheT g8 o
Options :

1. % 1081

2. % 1083

3.9 1084

4, % 1086

[}
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Question Number : 23

Correct : 2 Wrong : 1

Famous dance form 'Eathalall' originated in which of the following states?
Options :

1. ¥ Kerala

2. % Odisha

* Tamil Nadu

4 ® Gujarat

#

L

West Bengal

A

www.upscstudymaterials.com



Question Number : 23
Correct: 2 Wrong : 1

UTeIg o Al ‘e DT IGH SAH | e T | g &7
Options :

1. % e

2. % afifEa

www.upscstudymaterials.com
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Question Number : 24

Correct: 2 Wrong : 1

The highest mountain peak in India is:
Options :

1. ® MNanda Devi

2. v Kangchenjunga

® Saser Kangri
. ® Kamet

- % Rimo

E S N

[

Question Number : 24
Correct : 2 Wrong : 1

W & Helig] Teid (9T & -
Options :

1. % gt

2 G

3. % e w

4. % gmT

. ® Tar

LM

Question Number : 25

Correct: 2 Wrong: 1

Who 15 famously lmown as the 'Grand Old Man of India"
Options :

1. ® Dr. BR Ambedlar

7. % Aurghindo Ghose

. ® Lala Lajpat Rai
. ¥ Dadabhai Naoroji
. ® Rajiv Gandhi

[ Y

[

Question Number : 25

Correct : 2 Wrong : 1

g 3fivs B 31F SiSaT & 17 & B9 0ieg &7
Options :

1 % 2T & e adzaw

2 % aRfagt e

3. % FIRT S O

4 ZIETTE AT
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Question Number : 26

Correct : 2 Wrong : 1

Who among the following was lnown as Babasaheb and inspired the Modern Buddhist movement?
Options :

1. ® Dadabhai Naoroji

1 % Fajagopalachart
® Lala Lajpat Rai

Led

4 ® Dayanand Saraswati

+ B R. Ambediar

LA

Question Number : 26
Correct: 2 Wrong : 1

TH ¥ TeRe STET |ied o A @ ST AT AT Uel g - STE[H o g ATE e @ Ui T &

Options :

1. % AR g fli Sl
7. ® TR
3. ® ST AT T
. ® T aeEad T
. L 4 Eﬁ' AT 3-]3- =L
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Question Number : 27
Correct : 2 Wrong : 1

The 14111 finance comumission was\corstituted o) tnoyear
Options :
1. % 2010
% oo
% 2012
4 ¥ 2013
R

2014

~

(RN ]

LA

Question Number : 27

Correct: 2 Wrong : 1

142t TeieT ST AT TT8f Tepe enf gamm T
Options :

1. % 2010

2. % 2011

% o012
4. ¥ 1013
%

[N ]

2014

[}

Question Number : 28

Correct: 2 Wrong : 1

Duleep trophy is associated with which of the following sport?
Options :

1. * Kabaddi

www.upscstudymaterials.com
2. % Basketball



% Padminton
L ® Hocleey
% Cricket

(W]

www.upscstudymaterials.com
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Question Number : 28

Correct : 2 Wrong : 1

Feefi 2165 57t & oy ey & ST 27

Options :
1%

1 gt
. w :E"';'_I-'
% ETH

J= L

L

Question Number : 29

Correct: 2 Wrong : 1

As per census 2011, which state amongst the following has the lowest literacy rate?
Options :

1. # Kamatalka

2. % Assam

% Punjab

(W]

% Arunachal Pradesh

I

[}

. % Chhattis garh

Question Number : 29

Correct : 2 Wrong : 1

SFITOTAT 2011 = AR, 50 & TrE T2 &1 TTERT 37 Tedl 0 27
Options :

1. ® gqfew

2 % amm

. ® O

(RN ]

I

- ST ne
R T

LA

Question Number : 30

Correct: 2 Wrong : 1

ICC Men's cricket world cup 2015, will be hosted by
Options :

1. % 5 Lana

2. ® South Africa

3. ¥ Australia and New Zealand
4. % West Indies

% England and Anstralia

Lh

Question Number : 30

Correct: 2 Wrong : 1
TS |1 ET. ge Tenehe Tararend 2015 &t BtarT Teeed g &t

WWw.upscstudymaterials.com
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1. % sft wa

2. % ZTET ek

-V e e Ua Y e
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BRI e i o
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Question Number : 31

Correct : 2 Wrong : 1

In September, 2014, which country signed a nuclear cooperation agreement with India?
Options :

1. ¥ Australia

2. ® United States of America
* Korea

4 ® Bangladesh

# China

L

A

Question Number : 31
Correct: 2 Wrong : 1

TEdet 2014 H Tore S0 o AT o 917 TE A9 T HE i GHSE 07 §Ea18 o 87

Options :

1. ¥ aferfom

2. % T T amivET
3. % it

4. % g

5. % =

Question Number : 32
Correct: 2 Wrong : 1

The 'Ganga Action Plan' was launched by
Options :
1. ¥ Rajiv Gandhi

2. % Indira Gandhi

Jawahar Lal Meluu

L

]
4. % Atal Bihari Bajpayee
]

Sonia Gandhi

Wh

Question Number : 32
Correct: 2 Wrong : 1

“TITTT S T=) AT T SO Tereor T Tem=m T 917
Options :

1. % Trtter TR

2. % gy et

- ¥ FEATET A AEE

% 3 gt arT

% i et

d= L

[ ]

Question Number : 33 www.upscstudymaterials.com



Correct: 2 Wrong: 1

A Scottish philosopher, who is regarded as the Father of E%%%t&%ﬂ%tgﬂaulﬁig% £ "Wealth of Mations' is:
Options :
] ® Heny Ford

-

a

[

~ #® Aleander Pain

3. % Thomas Hamilton
4,

¥ pdam Smith

% James Martin

Question Number : 33

Correct : 2 Wrong : 1
T TS TS, g " Srefeer T S WET 6T 8, Ud el deer ST Jen | Rt oft

Options :

1

~

[ Y

LA

R-C il iy
¥ grmest e
. ® ooy Bfieed
. ¥ u=q T
R SRS

Question Number : 34
Correct: 2 Wrong : 1
Famous booles lilke Godaan, Gaban, Kafan are the literary worles of:

Options :

1.

-

L

LA

# Rabindranath Tagore
- % Mirza Ghalib

# Kalidasa

® RK Marayan

¥ Munshi Premchand

Question Number : 34

Correct : 2 Wrong : 1

11

[T, TTa, T AT ATeg TEdeh Teheeh | g cde e & :

Options :

l

]

(RN ]

L

et e
Tt e
g
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Question Number : 35

Correct: 2 Wrong : 1

th

Who is the spealcer of the 167 Lol Sabha?
Options :

|

~

-
a

4

. ¥ Sumitra Ilahajan
. % Meira Kumar
. ® Pramod Ilahajan

. # Kamal Nath www.upscstudymaterials.com



5. % M Thambidurai .
www.upscstudymaterials.com

Question Number : 35

Correct : 2 Wrong : 1

1 Gl FTeT @ 3TeTe B &7
Options :

1. ¥ gitEr Ag

2. % dRr AR

¥ yrtE g

. ® e T

% o dfage

[ R Y

LA

Question Number : 36
Correct: 2 Wrong : 1

The third nawigational satellite launched by ISEO on October 16, 2014 is:
Options :

1. % psLV-C22

2. ¥ [RNSS-1C

3. ¥ psLv-C24

4. % GSAT-14

. % IRINSS-1B

[

Question Number : 36

Correct : 2 Wrong : 1

16 aFpeR, 2014 W1 SERT ERT W& & Ay Sema- RO il 99 S00E e
Options :

1. ¥ psLv-C22

2. ¢ [RNSS-1C

. % psLV-C24

. ® GSAT-14

. % IRNSS-1B

J= L

L

Question Number : 37

Correct: 2 Wrong : 1

Who amongst the following won the Mobel Prize for medicine in 19687
Options :

1. ® Chandrashelchar Venleataraman

2 v Hargohind Ehorana

% Lmaratya Sen

L

4. ® Srinivasa Fammanujam

 #® Viloram Sarabhai

[}

Question Number : 37
Correct : 2 Wrong : 1

TH E Teper enf 1068 # Ferferear &7 e qreen SiidT am

Options :

1. ® IS ceeAT

- @?WW www.upscstudymaterials.com
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Question Number : 38

Correct : 2 Wrong : 1

The constituent assembly adopted the Constitution of India on;
Options :

1. ¥ August 15, 1048

2. % July 5, 1048

- ¥ Nov 26, 1040

- % Jan 26, 1050

. % Dec 1, 1050

d= L

L

Question Number : 38

Correct: 2 Wrong : 1

HTIe T T = WT o Gicre= @ o T Siie o T
Options :

1. % 15 anTed, 1948

® 5 FATE, 1048

¥ 26 TEE, 1040

4, % 26 ST, 1950

C® | Tager, 1950

L2

L

[}

Question Number : 39

Correct : 2 Wrong : 1

Which of the following is NOT a jowian planet?
Options :

1. ® Uranus

2. ¥ Pluto

. %® Venus

(RN ]

I

% Meptune

% gaturn

LA

Question Number : 39
Correct: 2 Wrong : 1

T W T R FEw ) 0 A6 8

Options :
1. ¥ aremw
2. ¥

- gEenld
4 % g

o

[N ]

[}

Question Number : 40
Correct: 2 Wrong : 1

Who amongst the following is one of the founders of the 111ultinaéinnal consumer electronics company APPLE Inc?
oni www.upscstudymaterials.com
ptions :



L2

L

LA

. ¥ Ronald Wayne

* Marlk Zuclerb eg
# Bill Gates

* Donald Trunp

# Richard Branson

Question Number : 40

Correct : 2 Wrong : 1
TH # I, FTEUEI JUHIRT Selerg 112 =T, UU 5. @ HeToet § # UeF &7

Options :

1

]

(RN ]

LA

¥ s O
B T Feeet
ARG
¥ EWmsw
C® g

Question Number : 41

Correct: 2 Wrong : 1
Which of the following states has the highest coal reserves in India?
Options :

|

~
=

d= 0 L

Lh

% Haryana

L ® Gujarat

. ¥ Iharkhand
. ® Bihar

# Andhra Pradesh

Question Number : 41

Correct: 2 Wrong : 1
FH © ToFE Y= H YR @7 Ged 981 HIaAT HE N 57

Options :

l

T W R B

L

. ® gl
® T
v ZEs
- ® fEw

U

Question Number : 42
Correct: 2 Wrong : 1

Manda Devi pealc is in the state of:

Options :

1.

~
=

L

Lh

' Uttaralchand
* Sildeim
# Uttar Pradesh
® Gujarat

"

Jarmimm & Kashir

Question Number : 42

www.upscstudymaterials.com
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Correct : 2 Wrong : 1 d ial
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Question Number : 43

Correct : 2 Wrong : 1

Which Indian union terntory has the largest area”?
Options :

1. * Daman and Diu

~

2 % Laksha dweep

% Andaman and Nicobar islands

Lsd

I

L ® Pondicherry
. ® Dadra and IMagar Haveli

LA

Question Number : 43
Correct: 2 Wrong : 1

Options :

| ® zggade

1% g

3. ¥ sEAe T FEEr £ T1E
4. % gizak

® TEHT T AW gaen

LA

Question Number : 44

Correct : 2 Wrong : 1

Which of the following rivers is also lown as "Red river"?
Options :

1. ® Yamuna
2. % Beas

. ® Ravi

. ¥ Sutlej

. ® Chenab

d= L

L

Question Number : 44

Correct: 2 Wrong : 1

TAH | TR T W1 AT Ag @ AT & | AT AT ar
Options :

1% T

2. % e

3%

4 o .
4. RELE www.upscstudymaterials.com
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Question Number : 45

Correct : 2 Wrong : 1

In badminton, who won the Women's Singles of 2014 Australian Super Series?
Options :

1. ¥ Saina Nehwal

2. ® PV Sindhu

#* Carolina Marin

Led

4. % Wang Shiwian

# Juliane Schenk

LA

Question Number : 45
Correct: 2 Wrong : 1

dETHe §, 2014 TE o GOT T BT Aige T e ST 24m

Options :

1. ¢ grgar Agar
1 ® o R
R T AT
- ® gt S

- ® S i@

d= 0 La

[

Question Number : 46

Correct : 2 Wrong : 1

The weight of an object is mindiii\ it/ thi
Options :

1. ® south pole

2. % porth pole

L ® tropic of cancer

[R]

e

d efuator

L

L ® highest mountain on earth's swface

Question Number : 46
Correct: 2 Wrong : 1

€ T A PET ~IATH BT
Options :

1% Zignft e oy

R FmiyE W

% g T

VY TET

. ¥ gudt T Ty & gaig udd w

N A T N

[}

Question Number : 47
Correct : 2 Wrong : 1

The city of 'Calicut' 15 also known as:
Options :
1. ¥ Kozhikode

7 % Follata www.upscstudymaterials.com



~%® Chennai
4. %® Cochin
~#® Cuttack

(W]

www.upscstudymaterials.com

[

Question Number : 47

Correct : 2 Wrong : 1

“Fethe AT @ 3 o A § AT AT 6
Options :

1. ¥ giEmE

2 ® FrEEET

% omE

. ® TR

R g

J= L

L

Question Number : 48

Correct: 2 Wrong : 1

Which of the following is NOT a type of secondary memory?
Options :

] ® Floppy Disle

2. % Pen Drive

3. ¥ RAM

4 ® Compact Disl

% Bluray Disle

[}

Question Number : 48

Correct : 2 Wrong : 1

T & I T Tl (FET BT T U e A 27

Options :

1. *® wadt fEew
2% g EEg

3.9v W

4. % g e

LA

Question Number : 49

Correct: 2 Wrong : 1

Which of the following is regarded as India's first war of independence?
Options :

1. ® Battle of Plassey

2. ¥ Revolt of 1857

3. ® The Dandi March

4. * Battle of Buzar

~ #® (ivil Disohedience movement

[}

Question Number : 49

Correct: 2 Wrong : 1

TR ¥ TR W T W T AT SUTH FET 14T 67 .
Oni www.upscstudymaterials.com
ptions :



1. % oIl T g
2 ¥ 1357w TaEE
% TET T

R TR W g
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(W]

I

R gl aEET A e

[

Question Number : 50

Correct : 2 Wrong : 1
India has rich deposits of all of the following minerals EXCEPT Jwhich is inadecuate.
Options :

1. ® manganese

~

1 % fitanium

® iron ores

L

4 ¥ chromite

LA

% hauzite

Question Number : 50
Correct: 2 Wrong : 1

ART R ST At omfe £, 1 ol O T et @it i aeg HeE A
Options :

1 ¥ o

2. % et

3. * g s

5

Lh

General Enowledge of Chhattisgarh

Number of Questions: 75

Question Number : 51

Correct: 2 Wrong : 1

The first film of Chhattisgarh state, made on follk language was:
Options :

1. * Bhalda

1 % Iayaa

% Mor Chaiyaa Bhuiyaa

[N ]

% Kahi Debe Sandesh

I

% Chhattisgarhiya Sandesh

[ ]

Question Number : 51
Correct: 2 Wrong : 1

AT AT UY a1, T TS T @1 Ugel! Tohed &7
Options :

® .
1% e www.upscstudymaterials.com



]

T

R O FEar e
VY Ff T L
i T ey
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J= L

L

Question Number : 52

Correct: 2 Wrong : 1

Which of the following districts is formed by the division of district Durg'?
Options :

] ® Bilaspur

2. ® Raigarh

% ungeh

L

4. % Korba
v Fajnandgaon

Lh

Question Number : 52

Correct : 2 Wrong : 1

it Tiet & Terd T & 57 & Torey et ar fermfor garm
Options :

1. ® Reman

1 % g

[ O N
¥ OB
13

<

Question Number : 53
Correct: 2 Wrong : 1

Fldama iron ore complex is situated in which of the following district?
Options :

1. ® Fajnandgaon

2. % Bastar

3. ¥ Kabirdham

S ® ] ashpur

% Faigarh

I

[}

Question Number : 53

Correct: 2 Wrong : 1
UehITHT A1 S1ee Sepel g1 4 Tepay Fotet 7 Tewr 27

Options :

1. ® g
2 ® gEae

3. ¥ wdeam
4 % Faqy

L
W
3

Question Number : 54

Correct : 2 Wrong : 1 www.upscstudymaterials.com

The central plains of Chhattisgarh are lmown as the:



Options :
1. * India's tea bed

% Rice Bowl of Central India
ks

www.upscstudymaterials.com

]

L

sugar Bowl of Central India

# galt Bowl of Central India
ks

=

Iaize Bowl of central India

Lh

Question Number : 54
Correct: 2 Wrong: 1

BTG o Aedad ] Agr-l @l Tepel 10 & JHT AT 5
Options :

1. % 9T T =0 T fewtT

2. % e T T T T HE T

. ® Fe 9 AT T we T

. % [e 9T T JHE FT FENRT

- ® [ T T W W BT

d= 0 La

[

Question Number : 55
Correct : 2 Wrong : 1

15 the largest town of Janjgir district, and 15 a famous center for the 'Kosa' weaving industry.
Options :
1. ® Nawa garh
2. % Dhabara

# Pamngarh

L

4 ® Burgahan
5 Champa

Question Number : 55

Correct: 2 Wrong : 1

TR Toret T Had T2T ST & 31T HET g-18 I HT 0ieg o 8l
Options :
1. ® T=mTE

2% T
® g
% e

¥ Ty

d= 0 La

LM

Question Number : 56

Correct : 2 Wrong : 1

Which of the following tribes has the largest population in Chhattisgarh?
Options :

1. ® Chalana

2. ¥ Gond

(RN ]

L ® Blujia
- #® Kamar
% Dhura

I

LA

www.upscstudymaterials.com



Question Number : 56
Correct: 2 Wrong : 1

AAEET B GIE H, THIEE H (e AT i e deiee g7
Options :

1. % smT

2. ¥ s

% oS

- ® g

® o

www.upscstudymaterials.com
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Question Number : 57

Correct: 2 Wrong : 1

Chhattisgarh does MOT share its border with which of the following states?
Options :

] ® Iadlrya Pradesh

1 % Odisha

3. % Naharashtra

4. % Bihar
% Tharlhand

[

Question Number : 57

Correct : 2 Wrong : 1

TOITG @l AT 540 & 77 e & g1 AT 1 57
Options :

1. ® g udy

2. % anfEem

¥ Er

% oEz

[ R Y

LM

Question Number : 58
Correct: 2 Wrong: 1

The town Fajim' is also lnown as:
Options :

1. ¥ Prayag of Chhattisgarh

2. # Shimla of Chhattisgarh

Eashimir of Chhattisgarh

L

sugar Bowl of Chhattisgarh

®
4 %
# Rice bowl of Chhattisgarh

LA

Question Number : 58

Correct : 2 Wrong : 1

T el 1 3 o AT & AT AT |
Options :

1. ¥ gelETTE @ wEmT

. ® geiraT o T

. ® peang o weHie

4 % gl o7 2 W Fe

-2

Lsd
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5 % FA S T U BT BT
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Question Number : 59

Correct : 2 Wrong : 1

In which year was Bastar bifurcated to fonm two new districts?
Options :

1. % 1007

2. % 1005

¥ 1003

% 2000

* 2001

E R N

LA

Question Number : 59
Correct: 2 Wrong : 1

TopeT o | Sed¥ T T o S A7 et aemy M a7

Options :

1. % 1002
2. % 1005
. 1003
4. % 2000
® 2001

(W]

LA

Question Number : 60

Correct : 2 Wrong : 1

Bhilai i5 also laown as:

Options :

1. ® Trade centre of Chhattisgarh

~

2. ¢ Enowledge capital of Chhattisgarh
L ® The temple city of Chhattisgarh

[R]

e

. ® Diamond city of Chhattisgarh

L

. % IT centre of Chhattisgarh

Question Number : 60
Correct: 2 Wrong : 1

TS @ ST e A0 & ST AT 87

Options :

1. ¥ TS W S e

2. ¥ geitETTg @ A FT T

® getaTe @7 GTett o7 AT
Rniurkakankakns

- ® geifaTTE W gEET Hren T By

= L

[}

Question Number : 61

Correct : 2 Wrong : 1

Thalour Pyarelal Singh is referred as:
Options :

1. ¥ father of co-operative movement in Chhattisgarh
www.upscstudymaterials.com

~

2. % founder of journalism in Chhattisgarh



. # father of medicine in Chhattisgarh

(W]

www.upscstudymaterials.com
. ® first barrister of Chhattisgarh

I

. % founder of pantli caste in Chhattisgarh

[

Question Number : 61
Correct : 2 Wrong : 1

ST TAATHA T8 I Tohe A0 & AT AT 5
Options :
1. peiTE o WE T ST O S

~

T TS O o T
g TS | R & S9@

o~ - - =N
TS o Tl ey

T ETS B O AT O S

3

4.

# B B =

Lh

Question Number : 62

Correct : 2 Wrong : 1

Achanalanar-Amarleantale Biosphere Reserve is the first biosphere reserve of Chhattisgarh and _ of the country.
Options :

1 ¢ 4™

2 %15

® 16

L

4 %17
% 18

LA

Question Number : 62
Correct : 2 Wrong : 1

SRITHEFH- ST e ST 43, FaIaTs &7 UgaT 3R A F7_ Sansd auad a7 2
Options :

1. ¥ 14a

2% p5ar

® 1gar

4. % 1790

® pgar

L

Lh

Question Number : 63
Correct: 2 Wrong: 1

Shahid Veer Marain Singh stadium 15 i
Options :

1. ® Bastar

2. v Faipur

L ® Bilaspur

L ® Durg

(]

I

L ® Fajnandgaon

[

Question Number : 63

Correct : 2 Wrong : 1
SRS S AT ¥ SIS TR TR 8

Options :

www.upscstudymaterials.com
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% % %
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-h- %
i

Question Number : 64

Correct : 2 Wrong : 1

The Danteshwari temple 15 situated at:
Options :

1. ® SUrgLa

2 % Durg

3. ¥ Dantewada
% Raigarh

L ® Bilaspur

I

LA

Question Number : 64
Correct: 2 Wrong : 1

el B et T £
Options :

L % Fap

% i

¥ ST

4 % g

% e

L3

[N ]

[}

Question Number : 65

Correct: 2 Wrong : 1

Which of the following districts has the Kanger Valley MNational parle?
Options :

1. ¥ Bastar

2 % Balrampur

® SuUrgua

L

4. ® Fajnandgaon
® Bilaspur

Wh

Question Number : 65
Correct: 2 Wrong : 1

T & Tone et & wie et U IEE R 7
Options :

1. ¥ e

. ® oA

® e

4. ® [T

% e

Question Number : 66 www.upscstudymaterials.com
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L

[ ]



Correct: 2 Wrong: 1

_ temple is situated m the Naikal mountains, awau&?cgg%}ﬂﬁaﬁ?ﬂ?lélﬁ%%s garh.
Options :

1. ¥ Amarkantale temple

2. # Bhoramdeo temple

# Iahamaya temple

L

4. ® Birla temple
# Hatlceshwar Mahadev temple

LA

Question Number : 66
Correct : 2 Wrong : 1

HIST TeleTE o Heptel Telq | # 3500 e BT =8 ot e g1

Options :

1. ¥ amedres Afex
2. % RmEE AfeT
- ® wEmwmET AT
¥ REarARy

[ R Y

LA

Question Number : 67
Correct: 2 Wrong : 1

15 a follk dance of Oraon tribe of Chhattisgarh related with the worslip of 5al tree.
Options :

1. ¥ Sarhul dance

2. # Saila dance

Panthi dance

L

ks
4. % Sanskar dance
% Danda dance

LA

Question Number : 67

Correct : 2 Wrong : 1

|, SIETIg T AR AT T Uk Al o & S |l & DI AT F 2T 2l
Options :

1. ¥ Ega e

28 FEr e

3. % qoft g

4. ® gror I

L
#®

c

F

Question Number : 68
Correct: 2 Wrong : 1

_is celebrated by Satnami caste on the eve of the birthday of Guru Ghasi Das.
Options :

1. ¥ Saila dance

. *® Dadria dance
3. ® Danda dance
4. ¥ Pantli dance

L3

www.upscstudymaterials.com



5 % Reela dance .
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Question Number : 68

Correct : 2 Wrong : 1
T AAATHT AT ZIT % TTET S16 & F-ATEA T HATT AT 8]

Options :

1. ¥ &ar e
2% i e
 ® ZErTe
R ik
R AT

[ Y

LA

Question Number : 69

Correct: 2 Wrong : 1

Which of the following dances 15 based on the stories from Mahabharat?
Options :

1. ® Sarhul dance

2. ¥ Pandwani dance
3 ® Bharatnatyam

. % Danda dance

~ #® QOran dance

I

[

Question Number : 69

Correct : 2 Wrong : 1

TAH © DI AT IoT AFTHT BT aaqi Wy 3meTd) i
Options :

1. ® H{Ee o

2. ¢ urzam I

. ® ATy

¥ =ZETae

R o e

J= L

L

Question Number : 70

Correct: 2 Wrong : 1

The Udanti wildlife sanctuary was principally created to protect the:
Options :

1. ® Peacock

2. ¥ Wild Buffalo

. % Wild Boar

(W]

I

L ® Barldng Deer
% PBlack buck

[}

Question Number : 70

Correct : 2 Wrong : 1

TS ATt eT SR 1 UE: Teed TE0T S & Toll =TT 11T &7

Options :

1. % [

2 o S www.upscstudymaterials.com
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[

. ® et s
. ® gme
R gy

Question Number : 71

Correct : 2 Wrong : 1

The largest mechamsed mine m India 15 the

Options :

1.

~

L

Lh

# Jajpur mine
# sundergarh mine
# Fatnagiri mine
% Fatapani mine

¥ Pailadila mine

Question Number : 71

Correct: 2 Wrong : 1
T & ded a5 AT @ &

Options :

|

-3

(W]

LM

- ® e
R g Ee
i
. @mir e
- ST @

Question Number : 72

Correct : 2 Wrong : 1

Bifurcation of Bastar created which new districts?

Options :

l

~

[ O N

LA

. #* Kanker and Dhamteri

1. % Kanlar and Dantewada

. % Mahasamund and Durg
% Durg and Balrampur

. ® Korba and Dwrg

Question Number : 72
Correct: 2 Wrong : 1

TEAT o T T | W o AT e e a7
Options :

|

~
=

oL

Lh

. ® e AT umEa
. ¥ e 3T IaaE
* mres e gt
® grf ot ey
% e she 7t

Question Number : 73

Correct: 2 Wrong : 1
Which of the following festivals does NOT belong to the Chhattis%h state?

Options :

www.upscstudymaterials.com
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1. * Goncha .
www.upscstudymaterials.com

L ® Champaran Ivela
% Madai

(W]

. ® Pharamdeo festival

I

5 % Sanlami

Question Number : 73

Correct : 2 Wrong : 1

TAH ° DI AT Io8d BoETE U0 | GaTed J61 87

Options :

1. ® TR

2. % U Her
3% mEE

4 ® QEEEd Iodd
5. ¥ gaeAT

Question Number : 74

Correct: 2 Wrong : 1

The iron-ore of Bailadila is largely exported to Japan through the port of:
Options :

1. ¥ Vishaldhapatnam

2. % Karaikal

. % Cochin

4. % Mumbai

. % Kandla port

[N ]

[}

Question Number : 74

Correct: 2 Wrong : 1
AATICAT T A1 STE SATErmiaT. TR & ATETA © S0 &7 =i e ST

Options :

1. ¥ RemaEmeas
2. ® e
® PR

R omE

AT T

[ W

L

Question Number : 75

Correct: 2 Wrong : 1

Bilaspur district shares its border with which of the following districts?
Options :

1. ¥ Korba

2. #® Dhamtari

. * Palra mpur

4 % Balnd
W

[N ]

Lh

Surajpur

Question Number : 75 www.upscstudymaterials.com



Correct: 2 Wrong: 1

Wﬁ%ﬁﬁﬁﬁmﬁﬁﬁm%" www.upscstudymaterials.com
Options :

1. ¥ T

2. % AT

® FATHIT

4 % garg

L

LA

Question Number : 76
Correct : 2 Wrong : 1

The bifurcation of Rajnandgaon district lead to the formation of which of the following district?
Options :

1. ® Bilaspur district

1 % Faipur district

# Palod district

Led

4 ® Marayanpur district

¥ Kawardha district

LA

Question Number : 76
Correct: 2 Wrong : 1

TSI Totet o ToraTaeT & SR & 19 &7 Foielr a=m
Options :

1. % e e

2 ® g e

3. % gy e

4. % R ST

.
g

Question Number : 77

Correct : 2 Wrong : 1

A multipurpose tree in Chhattisgarh, used in households and has conunercial value, significant in tribal culture especially for its
flowers, i3 known as:

Options :
1. ® Neem
2 % Hollong

C® fena

(RN ]

% NMahua
ks

I

Hal

A

Question Number : 77

Correct: 2 Wrong : 1
THIETE 0T UD dg 3532 g4, TSawT Juim et # a7 & U I anuiiead goa Wi g, T 68T € 6 s el & 6y, S
|ETd H agd Heed T@AT el TE T4 E

Options :

www.upscstudymaterials.com
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4. ¥ mgam
5. % oo

www.upscstudymaterials.com

Question Number : 78
Correct: 2 Wrong: 1

Chitralcoot waterfall is located on the river:
Options :

1. % Kosi

2. ¥ Indravati

# Sheonath

% Jonk
ks

L

I

Arpa

LA

Question Number : 78

Correct : 2 Wrong : 1
IPEECACICINE T C R T o

Options :
1. ® T

1 Tt

[R]
®
g.

LA
®
:

Question Number : 79

Correct: 2 Wrong : 1

Who from Chhattisgarh has been a Member of Parliament nine times?
Options :

1. # Mamu Naik

2. ¥ V.C. Shulda

3. % Mitra Mohan

4. % Ravi Shankar Shulda

. ® Paman Ran

[}

Question Number : 79

Correct : 2 Wrong : 1

TG & I AT IR A6, 15 I a7
Options :

1. ® wyAEE

2Vt Y s

R ERE

R T e e

® g

[ O N

LA

Question Number : 80

Correct: 2 Wrong : 1

The mishappening, lenown as the Sterlisation Tragedy, in which more than thirteen women lost their lives, in Movember 2014, took
place at:

Options : www.upscstudymaterials.com



] ® Balrampur
L ® Durg

. % Korba

. % Pastar
d Bilaspur

www.upscstudymaterials.com

o A T N

[

Question Number : 80

Correct : 2 Wrong : 1

et 2014 H d¥g & A ST ATEATE B A ol STelt AeeG ] BT geeAT Wyl gs i
Options :

1. * Fermg

2, ® it

R P

4. % FEaw

-V e

(RN ]

LA

Question Number : 81

Correct: 2 Wrong : 1

What is the total munber of wildlife sanctuaries in the state of Chhattisgarh?
Options :

| %5
2. %7
3911

4 % 14
%15

[}

Question Number : 81

Correct: 2 Wrong : 1

TG T B deaf=iie SITROAT @ Tl AT Teha-t 7
Options :

1 %® 5
2. %7
3 v 11

4. % 14
% s

L

Question Number : 82
Correct: 2 Wrong : 1
15 a policy announced in 2013, under which Es 5,000 per year will be deposited in the name of new bom girls i fanuly
below poverty line, tll five years with additional 1 lalh provided when they attain 18 years of age.
Options :
1. ¥ Swavlamban Yojna

~

2. % Noni Suraksha Yojna

Ll

. ® Naari Shilesha Tojna
®

=

awarn Jayanti Gram Yojna

. ® Jawahar Gram Samridli Yojna

LM

www.upscstudymaterials.com



Question Number : 82
Correct: 2 Wrong : 1

, T 2013 H =it g Aiid &, e i Tt (AT & wie S aTel uiea) i # Fera artelaT & A1 |, 0T aut 7@
Tident % 5,000 SHT 70 S0 727 39 18 a4 & 57 - W E. | AT 3179 ek 0g T e =

Options :

1. ® ToTerled T

2. T GO T

3. % ar Tare T

4, ® ol St O T
® TRt T gHTE T

www.upscstudymaterials.com

LA

Question Number : 83

Correct: 2 Wrong : 1

Khutaghat dam is constructed on which river?
Options :

1. ¥ Sheonath

1. ¥ Kharun
3. % Hasden
4. % Yamuna

% Jonk

[ ]

Question Number : 83
Correct: 2 Wrong : 1

GeTaTe are fore ol ot AT 27
Options :

1. ® Fgamr

2.V w@ed

% g

® g

. ® St

E S N

[

Question Number : 84
Correct : 2 Wrong : 1

Guru Ghasidas university was mnaugurated in the year
Options :

1. * 1081

2. ¢ 1083

L

Lh

Question Number : 84

Correct: 2 Wrong : 1

T TTETETe TereTererera BT Ige T e & g o
Options :

1. % 1081

1 % 1033

3 % o35 www.upscstudymaterials.com



4. % 1037 .
www.upscstudymaterials.com
5. % 1001

Question Number : 85
Correct: 2 Wrong: 1

The Marathas attaclked Chhattisgarh in the year:
Options :
1 %® 1723

[ I [
® o=

— —_

(=] Cx1

— Lo}

= [a—

Question Number : 85
Correct : 2 Wrong : 1

ATTETa = T e OF Tere a STerAT Tera o
Options :

1. ® 1723

2. ¥ 1741

. ® 1703

[R]

C#® 1Em
S % 1310

e

L

Question Number : 86
Correct: 2 Wrong : 1

In Chhattisgarh, who led the first war of independence in 1857, and was the first martyr from that region?
Options :

1. ¥ Veer Narain singh

2. % Hemu Kalani

# Patulceshwar Dutt

4. % Bahadur Shah Zafar

% Nana Sahib

L

Lh

Question Number : 86

Correct : 2 Wrong : 1
OGS H, 1857 | Teree W Taa3dT GUTH &7 ded TehaT 9T 31T 39 &7 &1 UEAT MRS a1

Options :

1. ¥ i A iy
1% B T

. ® agiraT T

. ¥ TETET Mg Y
® QT

[ O N

LA

Question Number : 87

Correct: 2 Wrong : 1

Chhattisgarh came under the British rmile for the first thime in the year:
Options :

| % jang www.upscstudymaterials.com
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%1812 .
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¥ 1318

(]

S #® 80

e

% 1300

L

Question Number : 87

Correct: 2 Wrong : 1

TG Ugell aTe Tore e # ST e & arefi gar
Options :

1. % 1301

1. % 1312

3.9 1818

[} -l-n
I
—_ —_
X (s
L ] -2
[} —_

Question Number : 88

Correct : 2 Wrong : 1

Bhillai steel plant began its production i the year:
Options :

1. % 1013

2% 1027

# 1040

4. % 1050

¥ 1050

L

A

Question Number : 88

Correct: 2 Wrong : 1

TS SEUTT 9T o o ag § SUHT T SO TORET 9
Options :

1. % 1013

2. % 1007

# 1040

4. % 1050

¥ 1050

L

Lh

Question Number : 89
Correct: 2 Wrong : 1

Which of the following is also known as 'the land of tribals'™
Options :

1. ¥ Bastar

2 % Faipur

® ] anjgir

4. %] ajpur

L

® Bijapur

Wh

Question Number : 89

Correct : 2 Wrong : 1 www.upscstudymaterials.com
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Options :
1. ¥ T
% g
B S
- ® S
% e
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Question Number : 90
Correct: 2 Wrong: 1

The Hasdeo Bango dam 15 m which district of Chhattisgarh?
Options :

] ® Durg

2. % Kanker

# Bastar

L

4, ® Balrampur
¥ Korba

LA

Question Number : 90

Correct : 2 Wrong : 1

EOCH I AT TG o o ool H 87
Options :

1% gif

2 % gEw

. ® e

Y ERET

R N

L

Question Number : 91

Correct: 2 Wrong : 1

Tatapami-Famlola coal field is in which of the following districts?
Options :

] ® Bilaspur

-
=

. ® Palra mpur

d Surgya

(W]

. # Dhamtari
% Durg

I

[}

Question Number : 91
Correct : 2 Wrong : 1

TTETA - TTHER W D IIelT &, 396 forer el 7 87
Options :

1. ® Reman

B e

- o

4. % ermEaTr

% i

]

(RN ]

LA
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Question Number : 92

Correct : 2 Wrong : 1 www.upscstudymaterials.com

Kudas and Kisans are the subcastes of which of the following tribes?
Options :

1. ¥ Oraon

2. % Gond

% Baiga

4. % Nunda

* Halba

L

Lh

Question Number : 92

Correct: 2 Wrong : 1
FETE A Toha gan & Torg S=iid i Ju=iaar g7

Options :
1 ¥ it
2 % e
%
*® ger
% g

E S N

[

Question Number : 93

Correct : 2 Wrong : 1

In 1867, who amongst the following was appointed as the Diwan of Bastar state, widely lmown for exploitation of tribal people?
Options :

1. ® Dhruvarao

7. *® Vaaman Baliram Lakhe

~ ® Ramrao Chinchollar
R4 Gopinath Kapardas
. # Madav Rao

[ R Y

LM

Question Number : 93
Correct: 2 Wrong: 1

T 1867 H, T8 & Tt sat T2 @7 Sra 2 T T &, St St 120 @ it o ST d T e
Options :

1% e

2. % R ATy T

3. ® T TR

4. % T U

B Amer T

[

Question Number : 94

Correct : 2 Wrong : 1

Devrand Jethant temple 15 dedicated to which of the following God?
Options :

1. ¥ Lord Shiva

2. % Lord Ganesha

3. * Lord Budha
% _ www.upscstudymaterials.com
4. Lord Vishwalarima



S. % Lord Krishna .
www.upscstudymaterials.com

Question Number : 94
Correct : 2 Wrong : 1

AT SSTHT AT 5AH © e ST @i §ATud 27
Options :
1. & e fae

2 % I o

Led

® o g
4 % qyrrarT Feawar
# qTITET gy

LA

Question Number : 95

Correct: 2 Wrong : 1

Which of the following places in sugwa district 15 famous for Tiger pomt water parl?
Options :

1 ¢ Ilainpat

2% Udaipur

# Lmbileapur
4, ® Dhorpur

% Patela

L

LA

Question Number : 95

Correct : 2 Wrong : 1
T TSier T S0 & 19 |97 €00 FE TR ATee aeTamdh # o0 Aitese?

Options :

1. T
i % g
L. Dy
3 ® afyg

[ T
®

Question Number : 96
Correct: 2 Wrong : 1

The ancient Didneshwari and Pataleshwar temples are located in:
Options :

1. ¥ Bilaspur district

2. % Korba district

% Surguya district

L

4. % Dantewada
% Faipur

Lh

Question Number : 96

Correct : 2 Wrong : 1
i Tagrart! U Teerat ATy @t T &
Options :

1. ¥ TEemae S

1 B Far e www.upscstudymaterials.com
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L
#
£

Question Number : 97

Correct : 2 Wrong : 1

Which of the following is the smallest wut of elected local self-governance?
Options :

1. ¥ district panchayat

~

2. % gram panchayat

® tehsil panchayat
"/

L

=

zamidar panchayat

® tehsil tyaryvalaya

Lh

Question Number : 97

Correct: 2 Wrong : 1

TH & B i, T - e a7 ged Tlel 5w 27
Options :

1. % T3 w

2. ¥ I T

. % et v

4. % FffaR =T

gt e

(W]

[}

Question Number : 98

Correct : 2 Wrong : 1
15 a dance form, very comunon in Durg, mvolving enactment of nuythological or legendary characters.
Options :
1. % Sarhul
"

L2

Slya
* Pola

. ¥ Danda
- Hareli

R W

LA

Question Number : 98
Correct: 2 Wrong : 1

T e et & ST I H Agd 19 &, SHH U SRIeT Hieeg St @ SrHe T a2l
Options :

%
1. ® &g

L2
®

[N ]
®

2
Ei

Question Number : 99

Correct: 2 Wrong : 1

The first Jute mill named "Mohan Jute Ml" of Clﬂl\?\}\}&warh 15 sitélated at;
-upscstudymaterials.com

Options :



1. % Bila spur .
www.upscstudymaterials.com

-3

L ® Balrampur
d Faigarh

L ® Durg

. % Pastar

d= 0 La

[

Question Number : 99

Correct : 2 Wrong : 1
Options :

1. ® Reman

# e

Y g

B ogif

®

T W B B

LA

Question Number : 100

Correct: 2 Wrong : 1

Raipur was founded by the Kalchuri lang:
Options :

1. #® Lalsm Kama

2. ® Sodha Deva

% Ram Chandra

4 % Asholka

. * Bijjala

[N ]

[}

Question Number : 100
Correct: 2 Wrong : 1

TIY &1 TTIAT Bofelie U7 &R el T8 & :

Options :

1. ® Fgw @l
1% g
Y A
® arane

. ® =

L

L

Question Number : 101

Correct: 2 Wrong : 1

Az per Census 2011, what 15 the approzimate hteracy rate of Surgwja district?
Options :

1 ® 28%

2. % 40%

v 60%

4 % 70%

% 55%

(%]

[ ]

Question Number : 101 www.upscstudymaterials.com



Correct: 2 Wrong: 1

ST 2011 % ST, ST et e ametd R §3 gy dymaterials.com

Options :

1. % 289%
1 % 40%
3. ¥ 0%

4. % 70%

LA

Question Number : 102

Correct : 2 Wrong : 1

The old temple IMama Bhatya is situated at wlich of the following places?
Options :

1. ¥ Barsoor

2% ] ajpur

# Balrampur
4 % Kanker

# Faipur

Led

LA

Question Number : 102
Correct: 2 Wrong : 1

T HTAT =T AT g0 # T werre o7 e &7
Options :

1 ¥ Ty

- S

L
# B B
i1

Question Number : 103
Correct : 2 Wrong : 1

Which of the following plants i Chhattisgarh was established by the co-operation of India and US5E?
Options :

1. ® Korba Thermal Power Plant

2. % Bhilai Steel Plant

. *® Jamul cement Plant

% BALCO

. ® Bolaro steel plant

J= L

L

Question Number : 103
Correct: 2 Wrong : 1

FHIETE H S8 ° Tere T i TII0T AT 3¢ USSR & st gt | g2 o

Options :

1. % e At e aw
2. ¥ WA e w1

B e wiE g

4. % grere!

(W]

www.upscstudymaterials.com
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Question Number : 104
Correct : 2 Wrong : 1

Chatturgarh fort is also lown as:
Options :

1. ¥ Lafagarh fort

2. % Malhar fort

# Fajm fort

4 % Hawa Mahal

# Fatanpur fort

Led

LA

Question Number : 104
Correct: 2 Wrong : 1

DA Tofol &1 ST TR =T & ST ST 87
Options :

1. ¥ TS TeReT

2. ® Hopr TFeT

. ® =i R

- ® gar g

B wF e

d= 0 La

[

Question Number : 105

Correct : 2 Wrong : 1

Which Indian state has the mazithudypertintagt b Eoeuate Uvip wider oy ety /ias]
Options :

1. ® Fajasthan

2. ¢ Chhattisgarh

#® Assam

% Ileghalava

. % Uttar Pradesh

R N

L

Question Number : 105
Correct: 2 Wrong : 1

e AT 1T Tt | IO 4T # Ffer St et @i T aid AT e sieen 57

Options :

1. ¥ e
2. ¥ g
% s

4, % FETeT

® FEvmEd

(W]

[}

Question Number : 106

Correct : 2 Wrong : 1

The river Mahanadi emerges from which of the following?

Options :

1. ® Kandra range

www.upscstudymaterials.com

~

2 % Gadiya mountain



. # Pailadila range

(W]

www.upscstudymaterials.com
. ¥ Sihawa range

. % Kailash range

I

[

Question Number : 106
Correct : 2 Wrong : 1

HETAT SR & e Tt 7

Options :

1. ® PigT g
® iz e

. ® AeniEmT e
- TogTa g
. ® e S

o P T T

L

Question Number : 107

Correct: 2 Wrong : 1

The Jarmml cement worles is located in;
Options :

1. ¥ Durg district

2. % PBastar district

# Korba district

4 ® Bilaspur district

ks

L

Lh

Surguja district

Question Number : 107
Correct : 2 Wrong : 1

T it e e A B
Options :

1. ¥ gt fa

2. % geae S

R aciEn

% e ST

- T S

[ O N

LA

Question Number : 108
Correct: 2 Wrong : 1

In 2014, Social Activist "Famesh Agrawal" from Chhattisgarh received:
Options :

1. ¥ Goldman Environmental prize

2. ® Gandhi Peace prize

# Padma Phusan

4. ® UNESCO prize

L

# (Green Star prize

Lh

Question Number : 108
Correct: 2 Wrong : 1

af 2014 H, BEETE & HIHIE PIhad] THT ST &1

FIelT 217 :
www.Opscstudymaterials.com
Options :



1. ¥ TS A TafaR iR qrEaT
® el sife qeEaw

- % 7 g

. ® T qwEaT

% 19 X [ER

www.upscstudymaterials.com

e W S B

[

Question Number : 109

Correct : 2 Wrong : 1

First unit of Eorba Super Thermal Power Station was cotumnissioned in;
Options :

1% 1071

2. ¥ 1083

L
LY

[ ] I
® o
L-2 L-2
= =
— =
= ]

Question Number : 109
Correct: 2 Wrong : 1

T ICelT GUT AU Teled T i Ugell SehTs 1 HACH FHT AT
Options :

1. % 1071

2. ¥ 1033

% 1087

[N ]

4 % 1000
® 2010

Lh

Question Number : 110
Correct: 2 Wrong : 1

'Bhilai Institute of Technology' was initially setup in which district?
Options :

1. ® Bilaspur

2. *® Korba

S ® ] anjgir-Chaimpa

R Durg

L

I

L ® Jashpur

L

Question Number : 110
Correct: 2 Wrong : 1

“TIRTE TR ST @ ST & | e ot # T2t T mar o
Options :

1 ® TEemage

2. % P

. ® FafieamT

Vi

B

d= L

[ ]

Question Number : 111 www.upscstudymaterials.com



Correct: 2 Wrong: 1 q -l
Who 15 known as the founder of journalism in Chhﬂwgvgﬁ%ﬁcsm ymaterials.com

Options :
1. ¥ Veer Narain aingh
2. % Madhav Rao Dapre
3. ® Padmavati Devi

4. ® Baman Rao

% Nand Eumar

[

Question Number : 111
Correct : 2 Wrong : 1

ToRe giaTTg H USRI T &1 A-Te el a7 57
Options :

1. ¥ & e #y

2. o e i

# et 3T

C® g T

 ® SEgr

E R N

LA

Question Number : 112
Correct: 2 Wrong : 1

Who amongst the following published the magazine "Chhattisgarh Nitra"?
Options :

1. # Ramrao Chinchollar

2. # RC Desmukh

Y MP Sapre

k-

(W]

=

Anand Rastog

. % Khubchand Baghel

[

Question Number : 112
Correct : 2 Wrong : 1

A0 O e "B TETe THE" STHE T T Herer T &7
Options :

1. ® YT RS

1% I o TemE

i

4. ® T eI

. % waeg aue

(RN ]

L

Question Number : 113

Correct: 2 Wrong : 1

Who was the second governor of Chhattisgarh?
Options :

1. ® Raman aingh

2% pmar Agrawal

3. ¥ Krishna Mohan Seth

4 oo .
4. ™ Sheldhar Dutt www.upscstudymaterials.com



5. ® Slryam Charan Shulda .
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Question Number : 113
Correct : 2 Wrong : 1

THIETE @ GHC TaTe @i 207
Options :

1. ¥ 9 g

2. % 3T STET

3. ¥ gur AT as

4. % gmrad

R T =T S

LA

Question Number : 114
Correct: 2 Wrong : 1

The name of Sanjay Mational Parle has been changed to:
Options :

1. ¥ Udanti National Park

2. ¥ Guru Ghasi Das MNational Parle

L ® Faipur Mational Parle

(W]

. #* Indravati Mational Park
ks

I

LA

Ari-Dogri Mational Parlke

Question Number : 114
Correct : 2 Wrong : 1

A TEIT T T A7 a5 o PaTiEmy T &)
Options :

1. ¥ ZEf udt =M

2. ¥ T O 3T TR TE
R O e T

% et U IEe

% g g I

[R]

e

L

Question Number : 115
Correct: 2 Wrong : 1

Which candidate won the Lol Sabha election in Raipur in 20147
Options :
1. ® Charan Das Mahant

L2

® maroj Pandey

# Visnudeo Sai

L

. % Panshilal Mahato

I

[}

. ® Dinesh Ka sluyap

Question Number : 115
Correct : 2 Wrong : 1

2014 H T € T aeanet = ST g St A
Options :

1. ® o0 IR HET
2 ® gEm e www.upscstudymaterials.com
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I

[

Question Number : 116

Correct : 2 Wrong : 1

Az per 2011 census, which of the following state has sex-ratio greater than Chhattisgarh?
Options :

1. ¥ Andhra Pradesh

2. ¥ WWest Bengal
# Uttar Pradesh
4. % \aharashtra

® Punyab

L

Lh

Question Number : 116
Correct: 2 Wrong : 1

T 2011 P TATOAT & STEAR, 30 € o T o1 WU ol enTe | S1Terd 57

Options :

1. ¥ amerme
2. ® qbEm e
® T
4. ® wgRrg

® e

L

Lh

Question Number : 117

Correct : 2 Wrong : 1

_ was a freedom fighter born in Alaltara, and was also a barrister.
Options :

1. ® Veer Narain aingh

-3

% (Chhedi Lal
#® Shrileant Goverdhan
. % Pahadur singh

L ® Pradeep Gandhi

R W

LA

Question Number : 117
Correct: 2 Wrong : 1

|, (AT H oUW S AdT ST U U e ee e A
Options :

1. ¥ @ Arr ®E

2. BT A

. ® T Mg

® g R

® S et

d= 0 L

[}

Question Number : 118
Correct: 2 Wrong : 1

The smallest sanctuary of Chhattisgarh is: )
www.upscstudymaterials.com
Options :



1. % Padallchal
ks

www.upscstudymaterials.com

L2

Tamor Piyla
oita Mandi

e
4. % Udanti
e

L

Achanalanar

LA

Question Number : 118
Correct : 2 Wrong : 1

TG &1 Had 12T SN0 |
Options :

1. ¥ arEeate

2. % FHR TomT

el
)

LA
¥
§

Question Number : 119

Correct: 2 Wrong : 1

Which of the following rebellions by Abhujmarias tool place in 1825, against the invasion against foreign niles?
Options :

1. ¥ Halba rebellion

. ® Rani rebellion

. ¥ Paralleot rebellion

. *® Muria rebellion

. ® Koirevalt

o I N O

[}

Question Number : 119
Correct: 2 Wrong : 1

e 1825 H fIcait aITer o STTehAuT o feiteg SR{SAIRaT ST SH § @1 &7 gy gam an

Options :

1. ® gerar fagie
2% it REEE
% g R
* gt TR

[ S

L

Question Number : 120

Correct: 2 Wrong : 1

Chhattisgarh shares its southern border with which of the following state?
Options :

1. ¥ Ma dirya Pradesh

2. ¥ Andhra Pradesh

3. % Uttar Pradesh
4. ® West Bengal

% Bihar

[ ]

Question Number : 120 www.upscstudymaterials.com



Correct : 2 Wrong : 1 |
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Options :

1. % Fromaa
1V e
3. ® FEouaa
4. ® Ol e

% TEw

[

Question Number : 121
Correct : 2 Wrong : 1

The Udanti wildlife sanctuary is located in the district:
Options :

1. ¥ Faipur

2. % Korba

® Pastar

Led

4 ® Marayanpur

# Palod

LA

Question Number : 121
Correct: 2 Wrong : 1

I aeare ST T A A R

Options :

1 ¥ g

(W]
#

[ ] I
® o=

Question Number : 122
Correct : 2 Wrong : 1

The South Eastern Coalfields has its headquarters at:
Options :

1. ® Mahasamund

2.9 Bilaspur

L ® Faipur

. ® Qariaband

(RN ]

e

L ® Bijapur

L

Question Number : 122
Correct: 2 Wrong : 1

TGN el AT 41 T T e ¢

Options :

1 ® mgregs
2. ¥ e
B
4. ® i

(W]

www.upscstudymaterials.com
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Question Number : 123
Correct : 2 Wrong : 1

On 29 Aug, 2014, where in Chhattisgarh was an international hoclkey stadiun mangurated?
Options :

1. ® Pastar

2 Faipur

L ® Durg

E

Lsd

=

Surajpur

L ® Bilaspur

LA

Question Number : 123
Correct: 2 Wrong : 1

20 3MTET 2014 W, FHENE B TET U SEE T gl T 120 @ I e e 72T 417
Options :

1. % geaw

2.V e

% i

% g

. ¥ TmmagT

Question Number : 124
Correct : 2 Wrong : 1

The total capacity of Hasdeo Batlgo hydelordiedtis

d= 0 La

[

Options :

1. ¥ 50 MW
2. % 30 MW
3.9 120 MW
4. % 150 MW
5. % 200 MW

Question Number : 124
Correct: 2 Wrong : 1

B T ATl T T G Je GHAT R

Options :

1. ® 50 AMETE
2. % 30 ATETE
¥ 100 BTTETE
% 150 AMETE
% 200 FrmETE

d= 0 La

[}

Question Number : 125
Correct : 2 Wrong : 1

Mahant Ghasi Memorial Museum was established in the year:
Options :
1. % 1310

) % |g3a www.upscstudymaterials.com



3 % 1851 .
www.upscstudymaterials.com

4. ¥ 1875

5 % 1op1

Question Number : 125
Correct : 2 Wrong : 1

AEd OTHT THNE GUETAST Tohe o H T e 17T &7
Options :

1. % 1810

2. % 1334

% 1351

[R]

4 ¥ 1875
C % 1op)

L

Ability test
Number of Questions: 25

Question Number : 126
Correct : 2 Wrong : 1

Find the missing term in the series given below:

3, 14,7, 84, 155, 258
Options :
1% 26

~

[R]

R
®
4 %
R4

L

Question Number : 126
Correct: 2 Wrong : 1

et &1 TS e # SuTe g S e

3, 14,7, 84, 155, 258
Options :
1. % 26

-

(W]

®
%
4 B
K

[

Question Number : 127
Correct : 2 Wrong : 1
Find the missing term in the series given below:

5137 177 891 5353 www.upscstudymaterials.com
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L

Lh
L

Question Number : 127
Correct: 2 Wrong: 1

et &1 TS e # SuTE g S o

5,13,7, 177, 891, 5353
Options :
1. % 30
2. ¥ 43
® 47

(]

% 40

I

® 54

LA

Question Number : 128
Correct : 2 Wrong : 1

In a certain code, "POLICE" 15 coded as "FBJEKPO", how can "SIMPLE" be coded m the same language?
Options :

1. ¥ FQKILR

2. % FKQILR

3. ¥ FKQLIR

. # FKQUK

. ® FQKLK

I

LA

Question Number : 128
Correct: 2 Wrong: 1

e Toret @ AT § POLICE &7 §2 &0 # FBIJKPO Toram AT g7 @1 36t fie 9T # SIMPLE &1 §e ®0 1 27 Tear S
Options :

1. ¥ FQKJLR

2. ® FKQILR

3. ¥ FKQLIR

. ® FEQUK

. ® FQKLEKE

I

[

Question Number : 129
Correct : 2 Wrong : 1

Ina certain code, "PEACTICE" 15 coded as "GEXVEIZX", how can "QUESTION" be coded in the same language?
Options :

1. ¥ GRLMIFVH

2. % GRLMIFVH

3. ¥ GRLMIGVH

4. % GRLMIGYH .
www.upscstudymaterials.com
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Question Number : 129

Correct : 2 Wrong : 1

e Toreit g2 AT o PRACTICE 1 g2 ®9 H GRIVKIZX Tear AT 57 91 36T e |rer # QUESTION i gz &0 § 2T foir
Options :

1. ¥ GRLMIFVH

7. % GRLMIFVH

# GRLMIGVH

4 % GRLMJIGYH

# GRLMIGUH

L

[ ]

Question Number : 130

Correct: 2 Wrong : 1

The question that follows contamns a set of figures showing a sequence of folding of a piece of paper. The dotted lines in last figure
shows the manner in which the folded paper was cut. The figures are followed by four answer figures marled (4), (B), (C), (D)
and (E) from which you have to choose a figure which would closely resemble the pattern in which the cuttings appear when the

paper is unfolded.

PROBLEM FIGURES:
EamsfE IR - . : "I_'}
s NWW . UDSEST ,_4_‘:’1__ AL 1
RESPONSE FIGURES:
G OO0y & L | RSN e G G RO
Ly | @ O OO OO0 O
QO S| O L2k A0 i) ®
el e ol CF | O [ Ool Gy e
(A) (B) (€) (D) (E)
Options :
L% (4
1% (m)
3%
4. ¥ (D)
5. % (E)

Question Number : 130
Correct : 2 Wrong : 1

www.upscstudymaterials.com
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& 3 57 T W AT T a%mamvaw%%%%cswym&ﬁ%wﬁﬁqﬁqm%ﬁqﬁmagﬁawm
TS 1 Gl UF TG aTelt @eTs & ted o Tae TATaT tEar s
PROBLEM FIGURES:
- | | .
- i) :
L !
: M &
RESPONSE FIGURES:
sy e | O Z@FersEaleliie s netal [SE @R GES
OO0 OO0 C OO0 Q0|0 ()
s et - e )
OO0 QOO0 G S0 |00 OOl 0
(A) (B) (C) (D) (E)
Options :
1. * (A
1% (B
3% (D
4. ¥ (D)
% (E)

Question Number : 131
Correct: 2 Wrong : 1

Count the mumber of " in the following string.

Options :
1. %5
1% 4
3.¥7
4 %3

5 %10

Question Number : 131
Correct: 2 Wrong : 1

Ferifener et 7 o Tt a0

Options :
1. %5
2% G
3¢7

4 % 3

www.upscstudymaterials.com



L ¥
5. 10 .
www.upscstudymaterials.com

Question Number : 132
Correct : 2 Wrong : 1

Below is/are given statement/s followed by some conclusions. You have to tale the given statement/s to be true even if they seem
to be at variance with the conmonly known facts and then decide which of the given conclusions logically follows) from the
given statement/s, disregarding commonly known facts.

atatements:

I. All Gates are Logical

II. Al Logical are Circuited.
III. Some Circuited are Good.
IV, Some Good are Useful

Conclusions:

[ Some Useful are Logical
II. Some Circuited are Good.
III. Some Good are Circuited.

Options :

1. * Only conclusion I follows.

2. % Only conclusion II follows.

3. % Both conclusion [ and conclusion 11 follow.
4. * Both conclusion [ and conclusion I follow.

5. % Both conclusion II and conclusion 111 follow.

Question Number : 132

Correct: 2 Wrong : 1

el e T T g/TET 0 B e wg, o Heny TE T 21 ST TS T e/l @ Hed BT &, 9ol 5 of S AT
T | SIF 1 7 AIH oo &l S6h dig Ut U e T ¢ T [y M0 wenst o € @i |uE e [0 M0 e wesT @
TTieher ®0 & UTe- 9T ofeed & 9T GIHFAE: AT TEI1 a1 JUET T 247 7l

o
1. Tt &I a1l &l
I1. T qTichen! e UToeTeg T2 T &

111 @ Uiueeg sre 2
IV. & amd, IUAT &l

et

1. & JUAT, TTieher gl

11 7 UNTeTeRg 3R 3l

111 T7 3Ry, TH0eg &l

Options :

1. % reet Teh [ OTer T ]

2% e TR 11 UTeT AT gl

® Zit, Twan 1 T e 11 a1er a2

4. % ZiAt, Towant 1 oft fwend 111 oree @ &
® Fit, Twan 11 T e 111 a1e @ 8

L

L

Question Number : 133
Correct: 2 Wrong : 1

Shyam won the race and was presented money. He spent 15% of it for the party, half of the rest on his friend and rest of the
amount on his bike repairs and ona T-shirt. If he sp@al Ripse8Hdynimdiiatstepmuch did he spend on his friend?



Options :

1. * Rs. 1400
2% Rs 1500
¥ Rs. 1700
4. % Rs. 1000
% Rs. 2100

www.upscstudymaterials.com
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Question Number : 133
Correct: 2 Wrong: 1

S A 3IE ST 3T 39 A9s T Tem e W 15% W UTeT O, 99 @ 3T @ 0 T U T S e @ s
TS &I ACFAT Y 3 T 21-91¢ U @ T e, e OTe] o Toig & 600 & g1, 7 36+ 3 T I fira— & &= 47

Options :

1. % % 1400
2% % 1500
3.9 % 1700
4. % % 1000

® 7 2100

L

Question Number : 134
Correct : 2 Wrong : 1

From a tank of volume L' ltres containing pure water, 5 ltres are drawn from the tank and 15 filled with impure water with
concentration of impurities to be 50%. This operation is performed two times. The percentage of pure water in the tank is 92%.
Find the approzimate value of 'L

Options :

1. % 53 litres
2. % 58 litres
Y60 litres
. ® 62 litres

® 67 litres

[ S

L

Question Number : 134
Correct : 2 Wrong : 1

"L W AT aToil U el H g, ST HET 1 Tl & 5 FICT ol Wb Tell ST ¢ 31 Zehl i 50% SNYRgal ot aT9g <ot & WY 52T
SATAT &1 <Ig TR S @ ol ST 51 ZehT § g Sl T Midard 02% 81 ‘L T AT T A1 )

Options :

1. * 53T

2. % 58 AT

¥ 60 FteT

® 62 et

® 67 et

E R N

L

Question Number : 135
Correct: 2 Wrong: 1

What will be the final amount recerved for a principal of Rs. 7,000 mvested for 4 years at the rate of 10% p.a. sinple mterest?

Options :
1. * Rs. 7.200
2. % Rs 7,500

o P .
3. % Rs 8,200 www.upscstudymaterials.com



4 ¥ RS 0300
5. % Rs. 10,000
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Question Number : 135
Correct: 2 Wrong: 1

10% Widend |TEMRT 207 U 4 @i @ Ty TAiae & 7,000 & gerer @ @0 o sifa s i e g

Options :

1. % % 7200
2% % 7500
3. % ¥ 3200

4 % 7 0300
# % 10000

L

Question Number : 136
Correct : 2 Wrong : 1

A bag contains 5 red, 6 blue and 7 yellow balls. Another bag contains 6 red, 6 blue and 6 black balls. If two balls are picked from
the bags randomly, what is the probability that the balls are yellow?

Options :

1. * 6/101
2% 710
¥ 7102

L

® 2/103

® 3/105

=

L

Question Number : 136
Correct: 2 Wrong : 1

ST ARt # 5 e, 6 Hieit 8T 7 dieil 713 § Tor a7 St § 6 #7e, 6 Aol 3% 6 @BTeil 113 81 Aie el | &f Tid Ageo® &0 & i
ST T et 11 Tepete &1 UTiRrene T & g7

Options :

1. % 6/101
1% 70101
3 ¥ Inm
4. % /103

® /105

Ln

Question Number : 137
Correct: 2 Wrong : 1

5 men can do a piece of worlc in 6 days. 6 women can do the same worlcin 10 days. In approziumately how many days they can
finish that worle, if the work together?

Options :

1. ¥ 4 days
2% 5 days
* 6 days
4. % 3 days
%10 days

L

L

Question Number : 137

Correct : 2 Wrong : 1 www.upscstudymaterials.com
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Options :
1. ¥ 41T
2% 5T
4. % g faq
* 10T

L

[ ]

Question Number : 138
Correct: 2 Wrong : 1

An article is sold at 10% profit. If its cost price is increased by 10%, the shopleeeper sells it for Rs. 50 more to malke same percent
of profit. What is the percentage increase in selling price of the article?

Options :
1. ¥ 10%

v e 179

=S40

14%

=4
4 159
=4

L

LA

Question Number : 138
Correct 2 Wrong: 1

DT 10% @ FTH WY efell ST 81 A1 f0Td Hed # 10% &1 Jikd B S0 91 GhHa a0 g1 Uid 9 w1 3iid o & oy 39
z SIII T ef=dT 81 aeq o et o # Tenet widarT g g% 27

Options :
19 10%
1% 17%

® 14%
4. 159
=4

20%

L

[ ]

Question Number : 139
Correct : 2 Wrong : 1

In a cricket match, 3 players made an average score of 25 and 5 players made an average score of 15 What 15 the average score
of the team, if the remaiming 3 players made the scores 10, 19, 247

Options :
1.9 13845
2% 1025

20.35

=4
4. ® 2165
=4

L

[ ]

Question Number : 139
Correct : 2 Wrong : 1

Temere o U@ Al H, 3 TEATSST = 25 @7 39T TIC o417 A 5 STl = 15 @7 39T €0 9= Iie =t 9149 Eamsar = 10,
10 3% 24 ¥ THIT AT £ 91 510 T SfEd T T 27

Options :
1. ¥ 1845
N e 10 25
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4. % 1165
5 % 2705

Question Number : 140
Correct : 2 Wrong : 1

The area of a square felid 15 361 1113. What 15 the percentage decrease in the length of the side, if the area is reduced to 196 111j
Options :
1% 125%

) ﬁ ATy S0
& !

ER |

3. % 26.31%

4 ® 3555%
5 ® 4173%

Question Number : 140
Correct: 2 Wrong : 1

e eMTIehTE W T &=het 361 A2 g1 AT &= O & 106 W2 g1 ST 71 1T @i wla1s H T+ Widard e rd i gy

Options :

L3
®
2
2
]
n
f=]

oL
=)
iy
[N ]
=
o
(=]

Lh

Question Number : 141
Correct : 2 Wrong : 1

For the following series to be in an A P., what is the difference between sum of 12 terms and the sum of 10 terms?

2,58, 11,14,
Options :
l.

~

L
LA

LM
]

(RN ]
# € % 8 %
a2

A
Li

Question Number : 141
Correct: 2 Wrong : 1

TorTione SaeTTaTt @1 GHTET S0 # 514 o Toig, 12 USt @ I ofIT 10 US ! o I @ =i Teha T 3aT g
2,5, 8,11, 14,

Options :

1

-

LM
L}

LM
]

—_

(W]

LR 1

o
R
R
B

-

[
il
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Question Number : 142



Correct : 2 Wrong : 1

balema Express runs at a speed of 60 lanph crnsse%%ﬂ?e?’ct%y @Lﬁgnam'hsk%?@ss which is 500 m long and is mnning in the same
direction at a speed of 30 lanph, i1 4 minutes, what 1s the length of the Salema Fxpress?

Options :

1. % 750m
% 500m
¥ 1500 m
#2000 m
# 2500 m

[N ]

L

Question Number : 142
Correct : 2 Wrong : 1

AT TR G0 TErAToer =7 117 & =Ierd 1 & 3710 qAT Tam ® 30 Tersioe &7 mid 9 =6 51 Oel 500 HY #ell GeAr Terend @ 4 Be ) §
TR T ST 1 51 W] T &1 welTs s &7

Options :

1. % 750 #t
2. % sp0 AT
3.9 1500
4. % 2000 AY
5. ® 2500 A

Question Numbers : (143 to 147)

Study the bar graph that is given il g0yl sy e ee Enfwin auestins ©11 2| S . COIM

Profits earned by a company{in crores) by telecasting sports over 4 years

H2011 N2012 W2013 N2014

B5

Cricket Hockey Football Chess Badminton

Sub questions
Question Number : 143
Correct: 2 Wrong : 1

What is the percentage of profits earmned by tdecas%%%icétﬂldﬁl@?%aﬁﬁw
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Question Number : 144

Correct: 2 Wrong : 1

What is the percentage of profits sarmed by telecasting Hocleey in the year 2013 with respect to the total-profits earned by the
compaty in the year 20147

Options :

L ¥ 211%

4 # n2 oo

R L3, 3%a

3 % 25 1%

4 % 2741%

5. % 30 24%

Question Number : 145

Correct: 2 Wrong : 1

The profits earned by telecasting Football in the years 2014 and 2013 together is what percent of the total profits earned by the
compaty in the year 20127

Options :

1 ¥ 20 64%

7 % 113%

3% 41%

4 % 2641%

5. ® 1045%

Question Number : 146

Correct: 2 Wrong : 1

In which year the rate of increase in the profits of the company when compared to the previous year is mazimunm?
Options :

1. * 2011

1% 2012

3 % 2013
4 % 1014

5 % Cannat be determined

Question Number : 147
Correct: 2 Wrong : 1

In which year the rate of increase in the profits of the company when compared to the previous year is mazinnun for Badminton?
Options :

1. %® 2011

2. % 2012

#2013

4. % 2014

L

' Cannot be determined

Lh

Question Numbers : (143 to 147)
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Profits earned by a companylin crores) by telecasting sports over 4 years

H2011 W2012 W2013 m2014

Cricket Hockey Football Chess Badminton

Sub questions
Question Number : 143
Correct : 2 Wrong : 1

e 2013 H Tepehe WHOT & FU FATAT DT Wid 9 747 &7
o www.upscstudymaterials.com

1. % 38%

B 41.33%

¥ 4371%

B 47.55%

% 53239
Question Number : 144
Correct : 2 Wrong : 1

AT EIT @ 2014 T iq el ATAT o AT o 2013 H §TehT o WERT & STsiq ATAT &7 Wi 2 a7 57

Options :

Ll L-2

[ T

1. ¥ 11 1%
1 % 033%
3 % 251%
4 ® 1741%
5 % 3024%
Question Number : 145
Correct: 2 Wrong : 1

T 2014 T AT 2013 ¥ Geare o TaR 8 STfed gt @, a4 2012 T HUAT T Sfed ATd! @7 ha e uid A g7
Options :

1. % 20 64%
® 113%
® 24 1%
® 2641%
® 20 45%

k-2
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Question Number : 146
Correct: 2 Wrong : 1

Tere e | Towet o &T TorT o AT o AT H i 1 GC SATEwdTH g7
Options :

1. ® 1011

1% 2012

3. % 2013
4. % 2014
5. ¥ e A8t T AT gwar g

Question Number : 147
Correct: 2 Wrong : 1

Terer e H Towet o & ToreT 8 HOHT o AT H gl D1 G oS He A o (ol STeraH 57
Options :

1. ® 1011

1% 2012

www.upscstudymaterials.com

#1013
4 % 2014

L

[ ]

Question Numbers : (148 to 150)
F.ead the mformation given below and answer the questions that follow.

7 students Shah, Faj, Shree, Tambu, Umber, Eam and Tulasi sat on a bench in the class.

Eaj and Fam are the distant persons on the bench

Umber don't lilke Faj and Ram and watits to st s awayirond tiier.
Tambu is left to Umber and Shree is right to Raj.

There 15 only one person sitting in between Umber and Shah.

Sub questions
Question Number : 148
Correct: 2 Wrong : 1

Who is sitting at the middle of the bench?
Options :

1. % Tambu

# Shree

3. ¥ Umber

4. % Tulasi

5. % Shah

Question Number : 149

Correct : 2 Wrong : 1

Who is sitting imumediate right to Umber?
Options :

1. % Tulsai

2. % Shree

3. % Tambu

4 % oShah

5. % Ra
Question Number : 150
Correct : 2 Wrong : 1 www.upscstudymaterials.com



Who among the following is the neighbour of Shree? )
www.upscstudymaterials.com
Options :

1. % Tambu
2 % Tulasi
# Ram

4. % Umber

#® Shah

L

Lh

Question Numbers : (148 to 150)
TS el &1 T T Te 37T 9 ang T o wedt & 9= 3

7 Tereredt g, T, ST, T, Fe, TH o Tord! Ueh BT H o U ead g

T 31T T ofl T Heldl g dld i &l

e T TS 51 S TH I T el&T =ATgaT ol
A, Je o T & AR &, T & 317 8

o AT aTE 3 e et U T et )

Sub questions

Question Number : 148

Correct : 2 Wrong : 1

o | & o i waT a7
Options :
1% g
2% oy

3V T

4. % et

5. % g

Question Number : 149
Correct : 2 Wrong : 1

Options :

1. ¥ ot
2% oft

3% qg
4 % gy
5 ® I

Question Number : 150
Correct: 2 Wrong : 1

T T A T IS
Options :

L-3
¥

[}
#®
e

[ ]
4
A
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